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A2,2,B3,-1),C(-1,-1),D(3,1)
P(—4,4),04,2),R(2,-3),5(3,-2)
J@4,5),K(0,-3),L(-3,0),M(-1,3)
W(—4,—-4),P(-5,2),G#4,3),L1,-3)

A©,1),B (5, -3),C(-2.5,-15),D(-2,4)
R(=2,1),81,4),T(—4,-2.5),U@3,-2),V(2,-3.5)

A(~6.5,7.5), B(-3,3),C(6,8),D 4 —L5),
E (0, —6), F (—4, —2)

J(=8,9), K (—7,4), L (-2.5,5.5), M(4,5.5), N (7, 0),
P (0, —3.5)

Quadrant III

x-axis

Quadrant I

Quadrant IV

Quadrant IT

(@) (3, 2) Quadrant I

(b) (1, —2) Quadrant IV
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(a) (=2, 3) Quadrant II
(b) (0, 1) y-axis

(@) (—3, —1) Quadrant III
(b) (—4, 0) x-axis

(@) 4, —1) Quadrant IV
(b) (—1, —4) Quadrant IIT

(@) (=3, 3) pole beans, (3, 1) sunflower,
(1, —4) tomato

(b) gate (—4, —5), scarecrow (0, 0)
(a) see Part (c)
(b) see Part (c)
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(b) (—1, —6), (1, —6), (3, —7)

(a) picnic area (1, —4), scenic vista (—9, 4), marina
(=5, —9), restroom (—4, 9), waterfall (6.5, 5.5),
big boulder (—6, —4.5), visitors’ center (9, 4)

(b) (9, —6) South Loop, (—8, —7) pond,
(4, 4) Winding River, (—5, 7) Mountain Loop

(a) Castor (—4, 2), Procyon (—4, —1), Sirius
(=2, —4), Betelgeuse (0, —0.5)

(b) (3.5, 3) Pollux, (0.5, 4.5) Capella, (2.7, —4.3)
Rigel, (2.3, 1) Aldebaran
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